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Question 1

Qoobén@am 6063&6)036&: 306380@0 30[) doémoooQ 08008060[) 606)8000@886[) ......
Select one:

a. bbgyemol 3emdéomdol 3gLbogems

b. Ubgyemol dcogdotrgmdal gobbodemgés Logzgdo Gmob bgdalidogés dmdgbhdo

C. bbgnemol gocoosmgomgdol dgLBogems
d. Lbgnemol gocoosgomgdol goblodmgés tmal bgdalidngé dm8gbihdo

Question 2
Qoobén@gm 606806@360: om3@ob bbgn@oqa 3060)60000@ 330d@360 8063050@0000
bbgnemo ..... ( s0&Bogo gérmo 3sbybo ).

Select one:

a. GmIgemo(y Scnderomdl IemBotdy

b. 6m3cmol 3086ms(3 gobobocmgds Lbgs Lbgnemgdol demderomds
C. Gm3gemo(3 Imnderomdl shdotrgdno

d. 6m8cmab 303060003 3660300 bb3o bbanagbo

Question 3

dqbodemgogemos, oy o6 dodoégogemo gobgobocmma dotgeoscmyé (
bogmog ) Bgérthoemoe oy 0go dmdeomdl géma docmodosb dgmergdn?
Select one:

a. 56 dgodemgds

b. 8g0damgde

Question 4

bbgnemob 3ogootrgmds Logzgdn bobosmgds ...( seébogo géma 3obybo ).
Select one:

a. Goonb-39gdhmeen

b, Bl

C. 3mmE0bohgdoc

1, pelrmrs G

Question 5

49d3o&0h0o, 07 d3006%0:
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"bob@gaob, 6)«)38@308 383030@0 bban@gbo 36m036md83@3636
86)003063000006 o NG Uémooémdag@gbgs 806838 bban@obmos 3600@360
o%mqmégbn@o ( 503860@0 ) bobd)aao."

Select one:

a. oo

b. 49385600

Question 6

0300@06063@0 bobd)aaob dobo ...

Select one:
a. Jegdyepmol
b. o86cogdo
C. 56 o[33cmgd>
d. 33emoc000

Question 7

030303'3(4)0 IJO@OQS, 6)0’)88@08 6063000@83&) bbSUQ)Ob 0686)803@0 @O
66)03000[303@0 0)30[586860[) 8(’080[) Oé)()l)

Select one:
a. dobo
b. LoRdotrg
C. Bmbo

d. doemo

Question 8

Sf-bol)OSS-bao anaombob Sémgn@oo...

Select one:
a. boyhmbo
b. §epepe
C. go¢ho

d. 8.68

e. gégo

f. cobo

Question 9

07 doemol Bogés dgbtonemgdyemo dydomds ogdomo boags, 35306 o3
doemob 3o6mdococo 9Bogdg6 -----


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=SI
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Select one:

a. 3030066033353@ doemols
b. 856mbslbmergdgem doemol
C. Lodotoldotm docmols

d. Boboomdoggmdol doemsl

Question 10
86)000 30@003003@0 o60b. ..

Select one:

a. 10 000 geoyemo
b. 100 geoyemo

C. 1000 gooyemo

d. 10 yeoyemo

e. 100 000 geyemo

Question 11
Qoobé:]@gm 80680603606)5830[) 38(4)000@0 béob @(4)00, 6)008@0[)

Select one:

a. byoso Lésgemo Gbggo
b. catho Lsgamo Gbggs
C. 9600 Liamo Gbggs
d. Ls3o Lésyamo Gbggs

Question 12
6mob 03 133069L 3mbo 3390, GmIemol gobdogemmdsdo dgmércogdd

65330000 dmd&omdalb Qoaoboboomgbg@o yggeme 030303360 bocoocog
3600@360....

Select one:

a. oqgodo

b. LoRdotrg

C. 3960m0
d. 533monced

Question 13
Q)oobévn@goo 806306)@360: 6ba3ob 033@063Q0 o60b. ..

Select one:

a. BmbolBmemdnls 3@360630)60@05 80@0[)60[) Lodyocmm 3bodgbgemmds



ol Rol Rol Re.

b. BmbolBm&mdals 3@3606)30060@05 8"@‘*’6’0[’ 360d3bgcmmdod
C. BmbolBm&Bmdnls 3@3606)30060@06 3330631)0 80@0&)60[) 360dgbgcmmdo

d. BmbolBm&mdnl 3@60')306)30960@06 neeocegbo 8°Q°bé’°b obbmq:n@néo 360dgbgemmdo

Question 14
8@833@36)'3068@03‘36) 0)80’)6)00[) bbosUdSQ)OQ UQO:;L’ """" doéomoQo

\Siludie
Select one:

a. Lado

b. mombo

C. ™o

d. g0

Question 15
80’)@833@‘36'306800336 0)800(4)00[} doémooqu QSBD@O&S&OQ ( 80’)603680)

08 QSBB@SBOO’)O 86)0)006@00060 )

Select one:

306@0306)36)0)30:6)303@00 domo 3oligdol 6oderogemobe.

Co ngobaogém bba‘a@ﬂ 38@882)0 333068150 6060@03860[)0606' 8(")@833@860[)0806, 8(’0@83’3@860

d. GOBOL’aOOé)O bban@ﬂ dOQ)Ol) 8(")d88@8?}0m odgsb Oﬁdbégbbb, ')6 SDEOBQOL‘ QSU&C’)&JaDBODb.

Question 16
bbgn@gbob dgdo0g9b90m 6060@0336[) dmol aoodaa@gbb doBocogolo oo

396800030l 60@360 o gL 6@350 do6omoo 3@851@63@0 Bnﬁgboboo.
Select one:

True

False

Question 17
300006)@060(!)000 Lobhgdoda 686)(1)0@0b 300006)@060@360[) Qém%g

©99™ 3000907090900l gobhmemgdgel HBmwgogb:
Select one:

a. heogdhemEoolb gobhmengdgdl

b. Beazog aobeymamgdgdl

C. conboBozol gobheamgdgdl



T D

T Y D

T D

d. 3069850306 30b6hHmangdgdl
Question 18
oobEyemge gobdothgde: gowosgomgds gbmegoo. ..

Select one:

a. 806docol, Geodgambisgy ool bbgemo

b. (yo9gymero0l Bgthocmgdols 3gBogogdgamo Beazol B08seommm 8embs 3390

C. B39dBeor00b LaBigobio oo Lsdeaemenen Bgéahoemgbol 3gBsgongdgamo ezl 8odsthorcmn Besbo 5900
d. 36doeml, GmBgamnbig gocol bbgemo tmols géoggendo

Question 19
6033380 00360@06 800[’(4)00@0 Bnémo 30’)6)08(’0660@360@, 6)0’)60’)6)0 ongbo

dolo Géogd@méoo?
Select one:

a. gemoazbo

b. B&g6oc0

C. 3éy0botro

d. g96¢0zommyéo Béag

€. dmodmbhoc®o EGHagg

Question 20
333[}0603300 563630000 dmdéomdal bl 536@)0@0[) 3050[}000)368@0

Botomo Lowowggde (5:V:@r) smmbyé Loocggol.

S Answer 1| Cose- B
U Answer 2l Ceose- -l
a'TAnswer 3| Choose... LI
Question 21

dobomo dahonmdnl 360b3030l 0obob3sc, Gmdgmos LEm&o g063o6hgds?

Select one:
a. bbgyemos Lolihgdol dobs fmemos (30em391em Lbgnemors doligdol 930l

b. Ubgyemao Lobihgdol dobs ghos 3oemzgyen bbgymmas 3olgonl §9339
C. bbgnemos Lobhgdol 3obo heaemos 3oligool §930b

d. Ubgyemao Lolihgdol Bobo b5 3emgdos 339y Lbgyemmos 3oLgdal $0339

Question 22
bobnbol docmol 3odmdbobggemmo agm&dyemss. ( dmbedbgor 2 3obybo )

Select one or more:


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=s,v,a_\tau
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=s
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=v
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=a_\tau

—
- a. F= N
™ . F'= pmg
—_ P
2 C. F g
M 4 F=puN
Question23

F' dOQ)Ol} 8086) agbé\n@gbn@o 8330(’060 aoamobobabo CBOOé)aDQ)OC)

Select one:
© 4 A= FArsina

— [ E Y
C oy f’l—(&r)hlﬂﬂ
c. A= FArcosa

c oy A= (%) COS ¥

Question 24
F' dOQ)Ol} Smdag@gbob 80806)003@82)0[)0 Q)O ;&?_" 60@0@0@860[’ 3@6)0[’

330053; = il""/{2, émoaooé)oo o3 donb 303(4) 33[5(4)3@863@0 83300060?
Select one:

a. ©E>©y80m0

b. ytyesazomo

C. heemod byemal

d. 63 3mg305 96 (heoemo Brermols

DTS TS TS RN

e 38(500 o6 (bmqm 5'3@0[5

Question 25
€039mmo eI 96 360l LBm&o Loddmmogéol go8mbomgemgmoc ( F-

560l doemo, A-8ydomds, U-boRdoérg).

Select one:
C aN=F.dt
C pN= %
O c. N = %
C AN=F v
Question 26

6)[9330[) 386)o<~o@o 393m0m3emgdd %méoa:]@ooo:

Select one:
—)

C a.T_E?r
— )

O b.T_ 2


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=F=\frac{\mu}{N}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=F={\mu}mg
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=F=\frac{\mu}{mg}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=F={\mu}N
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=F
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A=F \triangle r \sin\alpha
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A=\left(\frac{F}{\triangle r} \right )  \sin\alpha
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A=F \triangle r \cos\alpha
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A=\left(\frac{F}{\triangle r} \right ) \cos\alpha
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec{F}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\triangle\vec{r}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\alpha\prec\pi/{2}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=F
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=v
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=N={F}\cdot{dt}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=N=\frac{A}{t}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=N=\frac{dA}{dt}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=N={F}\cdot{v}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=T=\frac{\omega_0}{2\pi}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=T=\frac{\omega_0}2
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C. - Wiy
d. T = 27wy
Question 27

386000@3@0 65830000 dmd@omds ool 30680’)60‘3@0, 600(30 @6000[5
8ob3@30m NG 033@850...

Select one:

a. 933modyced

b. bob3othy o> 03985

C. 983emogyeed o 3983

d. 583y, LobBoty oo 0ge8s

e. 533cmotyges oo LobJathg

Question 28
86)000 800@0 86)00000’)80060 ooémb 30608060 868&)600 608(’00[’&5860

Select one:
2R

= ==
a. D 4T
o, U =3KT
T _ 271~
T al
d. U= 2K
Question 29

bbgnemo dmdéomal 50 3/63 LoBdotrom. Gmgmen ogdbgds 8olo Lohdoérg 33/Lo
— 903d0? (ggemdo RoBgérgor dbmemme Gopzbgo dgoligeool LoBdybdoo. dog: 1.23)

Answer:‘

Question 30

53h™8mdocmo ImdEomdl mobodoémobdotrgdnmmow, yLobyobem Lohdséoom
a=53/63” shdotrgdom. o obdoemo ggbgds dob gogmmamma, Gmegboy obo
LoRgotrg doowmbggh V=143/63 -b. ( ggemdo BoBgrge dbmemme 6Gogbgo
dgolgeool LoBnbhoon. dog:1.23).

Answer:‘

Question 31

10 33 3sLob bbgyemo mogolnegmmoc gotogde 3 3 boBowmemosb. &alo
Henod Loddodob doemol dydomes? ( g=10 3/63) (ggemdo RoBgergon
dbmemmee Gosbgo 390Lgol Lodyboeom. dog: 1.23)


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=T=\frac{2\pi}{\omega_0}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=T=2\pi\omega_0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=U=\frac{2K}{3T}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=U=\frac{3}{2}KT
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=U=\frac{2}{3}KT
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=U=\frac{3T}{2K}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=3

Answer:l

Question 32
03mgge> M=13.4 33 3oLob Lbgyemol 30bghozyéo gbgérgos, oy dobo LoBdotrgo
203/63. ( gg9emdo BoBgérgen bmemmeo 6ogbgo. dog: 1.234 ).

Answer:l

Question 33

03m390> 30:gdohngnen gobdotol bogédyg, oy dobdoésl ébggal 3g60meon
T=8.0 63-L. g =103/63 ( ggemdo Bobgergor dbmemmeo Go(sbgo. 3og:
1.234 ).

Answer:l



